A Level H2 Math

Graphs and Transformations Test 5
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(iii) Hence, solve the inequality f (
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Answers
Graphs and Transformations Test 5

Q1
M —x*—4x+(4y*—8y—4)=0

For values that y cannot take, there are no real solutions for x and discriminant<0.
Therefore, (—4)" —4(~1)(4)* -8y —4)<0
16+16y" —32y—-16<0
yz -2y <0
Y(y=2)<0
S 0<y<?2
Set of values that y cannot take is {y eR:0< y < 2} :

(ii) 4y’ —8y—x"—4x—-4=0
4[(y—1)2 —1}—[(“2)3—4]—4:0
4(y-1) =4—(x+2)" =0

(y=1)" (x+2)




Q2

Danyal Education
“A commitment to teach and nurture”

Contact: 9855 9224



Q3

Danyal Education
“A commitment to teach and nurture”

Contact: 9855 9224



